PCH3200
3200 psi @ 3 gpm

Part Number Description
Pump Information: [PK16852 .............. Pump Kit, AR AMV3G32P |
*ATe57 . Thermal Relief Valve Assy
*UA0B759. . Easy Start Valve
FoA7098. In-line Filter
D21357 . ... . Replacement Filter
* D29068 ............... Chemical Injector with/QC
8065, Clamp
FUADBOTB. L Hose
Engine Information: GX390K1QA . ............. Engine, Honda, 13 Hp
UMOB6 e Key
AB990. . ... Oil 32 oz.
Frame Information: AO0BO50. . ..t Frame
D22268 .. ... ... Isolator
AO080SS. . ... Handle Assy
A08056............. Hose Reel Bracket Assembly
17086. . .o Hose Reel
D30445 . ........ . ... ... ... Rubber Hose Cover
D30446 ................. Rubber Gun Cover, flat
D30447 .............. Rubber Gun Cover, curved
D22180 . ... Tire, Pneu (qty 2)
D30249 .............. Collar with set screw (qty 2)
Hardware Information:
Foot: D21436 ....... .. Screw (qty 2)
D21437 ................. Nut, Flangehead (qty 2)
Handle to Frame: D30492 ......... ... .. ...... Snap Button (qty 2)
Engine to Frame: 18300................ Bolt,3/8-16 x 1-3/4” (qty 4)
18098............. Nut, Flangehead 3/8-16 (qty 4)
Pump to Engine: 18299. . ... ... ... Bolt, 3/8-16 x 1-1/4” (qty 4)
Hose Reel Bracket
Assembly to Handle + 16087....... ... ... . ... Flange Nut, 5/16-18 (4)
+ FOB4......... ... ... Screw, 5/16-18 x 1 (4)
Accessory Information: D24167 . ... Hose Assy
? FO35. .. . QC Socket
? notavailable ........ Hi Pressure Hose, 3/8” x 50ft
D24984 . ... ... ... . Lance Assy.
A06150 will be used after March 2005
D22184 .. ... .. Gun Assembly
+ H140 ... ... Chemical Hose
+ NCTOOT ... .o Cleaning Tool
+ D30374 . ... . Nozzle Holder
+ 17730. . . Nozzle Kit, 4.5
Manual Information: + A08058......... Manual, Operator-English/Spanish
+ 15107, .. Manual, Engine

Included in Hose Assembly
+ Included in Bagged Parts
Included in Pump Kit

*

M&S Service Co. Inc. 1-800-475-5660 1 August - 05


http://www.allpartsinc.com/mmAllParts/Others/PK16852-IPD.PDF
Will Hough
Highlight




